H & 0l & AHS B Ml A

20288x =& 13 HIISXMAEFHASF=UX RIS &Xl

SN BRLED
B2 HDISHRIAlL 2Bl (&/H)IS)

ol HDIS MelAl& FSXY FOIKRIIS(HIISHIALFHXAFCINRIIZ) (ol a2
SA -3 - A(3) - MISA - B85 Off &K N3 HnsZ
BHELE D 58,426 0 58,426
HIIZHIAA 2 (23/HDI2) 18,000 0 18,000
HIIZ HelAl FXS F0XA0I2(HIISHINA 18,000 0 18,000
=L N=EINEBIE))
HOI2 MelAld FEX™ FOIXRIIS 18,000 0 18,000
301 LBHRES 18,000 0 18,000
14 JIEHR A2 18,000 0 18,000
OHJIZ2 HelAld FXe =X
1,500,000 %674 2#23] 18,000 0 18,000
WSS (BB (2/HDI2) 40,426 0 40,426
R PIE ENEE I EELIEPIES 40,426 0 40,426
S EBIEETNESIE)) 40,426 0 40,426
602 0l XI 2 40,426 0 40,426
01 LBHIXIS 40,426 0 40,426
OHIISHIAIE FHX =22 of

= 40,426,000 40,426 0 40,426




H & 0l & AHS B Ml A

20288x =& 13 HIISXMAEFHASF=UX RIS &Xl

FA MEFS
M HIISX2AE 222 (83/HDIE)

SR HII2 M2lAE FHXY FoXIS(HIISHSIAILFTHISTXRI|S) (CH9: &S1)
M- - SA(3) - MRAY - BES (17| Pt e N3 A Hwsz2
=gl 0 58,426 58,426
HIISH2IAIE 2H22 (23 /HII2) 0 18,000 A18,000
HOI2 H2IAIE F=HEXY XIS (HIISHIAL 0 18,000 A18,000
FHISAFLUXKAZ)
HIIZ2 HM2lAlE FHIY FoX2012 18,000 A18,000
301 LEBAZ 0 18,000 A18,000
14 eI A2 0 18,000 A18,000
OHII2 XM2lAlE FHXS FoXH
AF0A 0 18,000 A18,000
WSS (AU (BA/HIIS) 0 40,426 A40,426
SAENE(HIISHIALFTHIAFLIXRII2) 0 40,426 A0, 426
SEXS(HIIS2FXAIIB) 0 40,426 A0, 426
602 Ol XI= 0 40,426 A0, 426
01 LBHoIXI2 0 40,426 A40,426
OHJISH2IAE FHISA =2IXAJIZ o
X3 A™0A 0 40,426 A40,426




